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A CPBSE Coaching for Mathematics and Science

M9OO0Z6F
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SUMMATIVE ASSESSMENT -1l
MATHEMATICS / ifora
Class - IX / &el - IX

Pttt o« 3903 iferaan i : 90
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General Instructions :

(1) All questions are compulsory

(i) The question paper consists of 31 questions divided into five sections A, B, C, D and

E. Section-A comprises of 4 questions of 1 mark each, Section-B comprises of 6

questions of 2 marks each, Secilon-C comprises of 8 questions of 3 marks each and

Section-D comprises o 10 questions of 4 marks each. Section E comprises of two

questions of 3 marks each and 1 question of 4 marks from Open Text theme.
(ili)  There is no overall choice.

(iv)  Use of calculaior is not permitted.

WUE-3T / SECTION-A
U 97 10 4T ydie &1 1 9% B

Question numbers 1 to 4 carry one mark each.

AXYZ ¥ Y1 Y7 %1 #eA-fig P ¥ 3F{UR ar(AXYZ) : ar(AXYP) Td =ifsw |
In AXYZ, I is the mid-point of side YZ. Find the ratio ar(AXYZ) : ar(AXYP).

afe T W7 F A9 T AR 96 cm? &, @ R ST T i

If the total surface area of a cube is 96 cm?, then find its volume.

3 999 10 9w gemsi &1 m 3@ Fif)
Find the mean of first 10 odd numbers.
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U ARARAN F2 & of-sr<rret 1 qeA faig 20 & qen o el 8 &1 o sawe ) ey g @w 1

Fife |
éﬂ a.freq uency distribution, the mid point of a class - interval is 20 and the width of the class is
- Find the lower limit of the class - interval.

EUS-d / SECTION-B

WA 59 10 v ¥ 2 37 3
Question numbers 5 to 10 carry two marks each.

ABCDWW?%M&WABW#%QE%:
ar (ABEC) 91 =ifsw
D C

af& AD||EC #t DE||BC & @ ar (ADAE) : 2

A E B
ABCD is a trapezium with F being any point on side AB. If AD||EC and DE||BC find the ratio

ar (ADAE) : ar (ABEC).
2AE) r(c )

A E B
Waﬁmﬁmmearmmmlmmﬁmﬁ,wmﬁwzﬁm 2

fSrgehT 919 /DET % a0aw &

Using protractor, draw « D = 60°. Construct another angle equal to ZDEF, using compass.

3T &, ABCD U Hi 5ga &, fmid /B=110°31 x oIk & 7 7@ Fiforw

In the figure, ABCD is a parallelogram with £B=110°. Find the values of x and y.
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8 7 em foray
a:; ;ﬁtljcmtﬁ?ﬁ’ A 20 Feia B F wH F IR TH W@H T AW A G Ao 2
T | T R T A6 9 e gt v 9

20 circular pla '
solid right c'i)ru::s eac.h of rad‘lus 7 cm and thickness 1.5 cm are placed one above the other to form a
arcylinder. Find the total surface area of the cylinder so formed.

ST 111 39 71 9 oms 364 PR R

2 qu‘fl ikl 1 TF |1y 250 9
]ﬁ\\m o 1 2 |3
45 65 52 88

Wt S wiferg ff
(i) e Q siferer 2 figq o &)
(i)  w fag e &

Three coins are tossed simultaneously 250 times with the following frequencies of different

outcomes :
LNumber of tails 0 1 2 3
Frequency 45 |65 [52 |88
Compute the probability of getting : 7
(1) At most 2 heads
(ii) All heads
10 AT XII % 80 faenfefalil & 5=1 arg =1 =g 7q voR & 2
| sl [l | e el | =@ A
I8 |6 [ 7 4 10 3
1.5 10 |6 | 8 8 8
WIfreRa 1 HifTg ff Agfeos &9 8 g7 T fawnel o 9= wa=rar fgaw v stean o feag
A H g |
Following table shows the birth months of the 80 students of Class XII.
| Jan [ Feb | Mar | Apr May | June
[5 6 |7 |4 10 |3
[July | Aug | Sept [ Oct Nov | Dec
|5 [10 |6 8 8 8
Find the probability that a student selected at random was born a month in which the
Independence day or Republic day are celebrated.
Eus-T / SECTION-C
2 3 0f9
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Question numbers 11 to 18 carry three marks each.

11 o el % 12 wfemd # sitaa i o € 12850 #1 afe HR F T H g frn S, @3

39a 2 13550 B e ¥ 1 IS 1 A 74 HfC
rin a factory is ¥ 12,850. If the salary of the manager

The average monthly salary of 12 worke
what is the manager's salary ?

is included, the average becomes 13,550,

12 ST Y § syafeer fay g Frefeted SOl M 25 ¥ | x I FIALI

11: 13: 15: 19, x+2, I+4, 30; 35: 39r 46
wre it {1 Hifsng |

The median of the following observations arranged in ascending order, is 25. Find x.

11,13,15,19, x +2, x + 4, 30, 35, 39, 4
Also find mean. '

= APQRﬁX,WQRa%WWﬁWHm%ﬁQX=%XR%| af€ ar (A PQR) =81 cm28, .

W ar (APQX) T HifT |
1
In APQR, base QR is divided at X such that QX =~ XR. If ar(APQR) =81 cm?, find ar (APQX).

14 & g wgfa B, AB R O I Tk g9 @ el ¥, W ogwm # R ¥ wwww 33
a 3R b & 1M ftafem Hifsa )

In the given figure, AB is a chord equal to the radius of the given circle with centre O.
Calculate the values of a and b.

15 T SUYF IS H1 e Fifaw 3R IR 9 WER wOHEH ¥ $9% 9R §EE 9 e 3
TS THM W Y A | o1 & e ot fafa |

age 4 of 9
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Construct a I

: ne se .

€qual parts Measug ment of suitable length and using ruler and compasses divide it into four
' re each equal part. Write steps of construction.

TP, PORS e Wi qefe #, Rt forat O e wfireds 3 E1x AR y 5 A W AT 3

mﬂ?’wwaﬁﬁﬁﬁmﬂﬂmaﬁﬁql
R

In the figure, PQRS is a parallelogram whose diagonals intersect at O. Find the values of x
and é/ Also, find the angles of the parallelogram.
R

¥

i
v

»40° X
P Q

FUMNGFE Ht GEId H 70°FH  FHO  SHBTI
(ii) 140° % HT0T ST ToAT HIfSIT |

Draw an angle of 70° with the help of protractor. Now construct angles of (i) 35° (ii) 140°, using

39 THR H TEEa 9, (i) 35° 3

compass.

Wﬂmmt}.%cmmﬁlﬂ@?ﬂl@aﬂ%!
5cm &1 HER &1 AT FF TROIA AAE T Hife |

A hemispherical bowl is made of steel 0.25 cm thick. The inner radius of the bowl is 5 cm. Find

R W ake e 3

the outer curved surface area of the bowl.

@Us-< / SECTION-D

T WA 19 9 28§ TAF & 4 FR T |
Question numbers 19 to 28 carry four marks each.

TF qeET B 80 TH faaHg ¥4l ° sffa @ w1 g Frefafed T

—,a:‘)f 20-29 | 30-39 | 40-49 | 50-59 | 60-69 | 70-79 | 80-89 90-99|

3

= 7|1 1 & |13 |20 |22 [12 |3
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Wi 9@ S fF e 79 ¥ deoEd
() F9 | F9 70 ™ I
(i) sy | afirs 59 @ Fmam

A batsman's runs in 80 one day matches are as follows :
Runs 20-29 [ 30-39 | 4049 |[50-59 [60-69 |70-79 | 80-89 | 90-99

No of 1 1 8 13 20 22 12 3
Matches

What is the probability that in the next match the batsman will score :
(a) atleast 70 runs,
(b) atmost 59 runs.

20 PQRS T& §WitR Iqys & fomd QR %1 E 7% 39 WHR @/l 771 € & QR=RE & PE, SR ®I F T 4
ufa@a ERGIR trFq' ar(ASFQ) =3 cm?2 &), @l ar(PQRS) 1 ifed |
hl}?
. __KLJ

\/
PORS i IS a parallelogram in which QR is produced to E such that QR =RE. PE intersects SR at
F. If ar(ASFQ) 3 cm?, find ar(PQRS).

T*“ o
5]
f/ i

/
XL
L

21 & g wigha §, 99 91 S0 BC ® P um ww fag & T AB=AP 1 fag wifww fs cp=cQ ®1
afe /BAP=50° %, a1 ~CQP % /BRQ T HifsIT |

In the given figure, P is any point on the chord BC of a circle such that AB=AP. Prove that
CP=CQ. If ZBAP=50°, find ZCQP and £ZBRQ.

Page 6 of 9 o .
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R

22 AMNO Ft T51 Fifsrg
(0]
g - GF“'F*N0=3.6cm,MN+MO=4.acm3fﬂ£N=75°%l
onstruct AMNO, when NO = 3.6 cm, MN + MO = 4.4 cm and ZN=75".

23 awpfd #, ABCD sk AP @ www s €

AADQ = ABCP &1
[ )

PP

A B
In the figure, ABCD and

AADQ = ABCP.
"ﬂk

A _'"B

oy ot T el e’ 1 UH gEioA T F A 164000 T SEvAHAT § | 321 1 WY 10 4

oz @i & 4

ABPQ are two parallelograms. Prove that

24
cm X8 em X 4 cm ¥ i 237 &1 wiwa =6 sy W R FE R, few g aufd 100 cm3 &1 58
4 TR 7 % fesh off =i f § @ Wk R 14 om SR SR 30 cm & 1 ST T HA H
9T 1 a1 20 em % 1 78 Weer 1 foRa i =few | At e A T Heen 1 9 o A |, @
FT A @i gEe F FA § auE god yeiia @ € 2
The "Caring old people organisation" needs money to build the old age home which requires 164000
bricks. Bricks measure 10 cm X 8 cm X 4 cm and cost of brick depends on its volume at the rate of T 1
per 100 cm3. It also requires 4 cylindrical cans of paint of radius 14 ¢cm and height 30 cm. The cost of
paint is I 1 per 20 cm3. How much money is required by organisation ? If “company A gives the
money to the organization”, then what common value is depicted by company A and the organisation
?

25 U o TR fes 1 FRART 20 om € 37 A€ 2 om HIE THE! W o g &1 I Ao :
(@) SRl T H Y g8 ISl I A |
(b)  39F AT GHE G Tl I AT |
A closed cubical box of edge 20 cm is made up of wood of thickness 2 cm. Find the :
(a) volume of the wood used to make it.
(b)  volume of air trapped in it.
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26 T YR g, fora e 8.4 m o S 35 m §, # g wft fet R el TR T T

STt g & U AN H 1.96 m3 SE e ?
How many full bags of wheat can be empﬁed' 39
84 m and height 3.5 m, if space for the wheat in each bag is 1.96 m”

into a conical tent of radius

2 U AR w1 O gt A 264 m? S A 924 m? ¥ @y =1 =M 3R 9 e
Hiferg |

The curved surface arca of cylindrical pillar is 264 m? and its volume is
924 m3. Find the diameter and height of the pillar.

8 frefafen fie 100 T @ TER @ SEOH (SEH) T -

TAIE (Heg) | wdl S GE
g faw 22
S 10
Eicic il 15
Fgo fa 24
T foerud 29

Il T I B agesdl o A e UHE Al 8-
(a) 9 R A Trrd

(b) ©EE IR 9 e

(c) @ad HAed fa

The table shows the prefered snacks of 100 children :

| Prefered Snack | Number of children
' Lays chips 22

Crax 10

Cheese Balls 15

Uncle chips 24

Fun Hips 29

Find the probability that the child chosen at random likes :
(a) crax and funflips
(b)  lays chips and cheese balls

(&) only uncle chips

@ug-4 [ SECTION-E

(erT 918/Open Text)
(*gvar gfifras = o fr swde fawg ) 4@ TEIEi T T & WY g §)

(* Please ensure that open text of the given theme is supplied with this question paper.)

fow : 9Ra W sregEEen W wtend
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Theme : Childhood Obesity in India

20 QA W, B s B 27 st 31 % e S o @ 150 cm &1 A A A3
T AHTT T Tor1 575 wameen i Feafir o i

Two frifends gxamined their BMI as 27 and 31, however both have equal height of 150 cm.
Determine weight of both friends. Also state the health status of both friends.

30 9250 cal B x e o & il a1 y firie S o e e e §1 g for e W 3
BM? T A 9 F fafaw a o o, b @R ¢ oam ot

You want to burn 250 calories with the help of home activities for x min and running oy I:lm-
Then what will be the linear equation for this ? Write it in standard form and also write vaiue
ofa,bandc.

31 e Rem Tn % frowe o 4 ww @ omg W W Fedmeen o @ (0 H 4
2 kg TN o A 3§ 9 W A @ @ ¥ )
(@) ﬁmﬁ@?ﬁﬁmﬁﬁmﬁmﬁmaﬁxmmaﬁyﬁqumﬁmw
A SafFE1 af F g H IR 3 kg B
(b) 9 gHiFE F 3 & fafEw
It is given that infants from age of one onwards grow up to adolescence at a rate of 2 kg every

year for weight. e ) coht
(a) Write a linear equation in 2 variables establishing a relation between age and weig

assuming age to be x and weight as y, if weight at 1 year of age is given as 3 kg.
(b)  Write two solutions for the above equation.

-o0o0olo-
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